B.
B.1. crrm

function [r]=crr(x1,x2,cctl);
% function [r]=crr(x1,x2,cctl);
%

%

%

% cctl: 'mat'

%

[isz1,jsz1]=size(x1);
[isz2,jsz2]=size(x2);

& NaN
& NaN

if (iszl~=isz2); *crr* error: isz1 of x1~=isz2 of x2'; pause; end

if (isz1==1); *crr* warning: isz1 of x1=1, x1=x1(:) done’; x1=x1(:); pause; end

if (isz1==2); *crr* warning: isz2 of x2=1, x2=x2(:) done’; x2=x2(:); pause; end

x1=detrend(x1,0);
x2=detrend(x2,0);
% std1=sgrt(sum(x1.*x1))";
% std2=sgrt(sum(x2.*x2))";

if (nargin==2 | strcmpi(cctl(1:3),'mat"))

stdl=std(x1,1)™*sgrt(isz1);
std2=std(x2,1)* sgrt(isz2);
stdmat=std1* std2’;
mask=ones(size(stdmat));
mask(stdmat==0.)=0;
stdmat(mask==0)=-1.e+30;
cova=x1*x2,
r=cova/stdmat;
r(mask==0)=-1.e+10;

end

if (nargin==3 & strcmpi(cctl(1:3),'vct))

crr_undf.m

if (jszl~=jsz2); *crr* error: jsz1 of x1~=jsz2 of x2 with vector specification’; pause; end

x1=detrend(x1,0);
x2=detrend(x2,0);



cova=mean(x1.*x2);
std1=sgrt(mean(x1./2));
std2=sgrt(mean(x2.12));
stdmat=stdl1.* std2;
mask=ones(si ze(stdmat));
mask(stdmat==0.)=0;
stdmat(mask==0)=-1.e+30;
r=cova/stdmat;
r(mask==0)=-1.e+10;

end

return

% Matlab
%
%
imx=3; jmx=2;
x=rand(100,imx);
y=rand(100,jmx);
for jj=1:jmx
for ii=1:imx
rr=corrcoef (X(:,ii),y(:,ji));
rmatd(ii jj)=rr(1,2);
end
end
rmatl
rmat2=crr(x.y)
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